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W% g & 6-10 7.1-8.8 79 =2
EHEE (mg/) 100 <20 - 44 28 =
BEEE V)48 &2 (mg/) 10 <2 <2 =
WY& E (ng) 2000 330 - 952 715 =
WAL 4 E  (mg/) 10 <0.5 <0.5 =
FALEEE (mg/l) 0.1 <0.040 - 0.047 0.041 =
GO7E B E R (me)) 100 <15-43 19.0 =
HAE (mg/) 20 <10 <10 =
MeegE  (mg/) 0.5 <0.3 <0.3 =
FRER R E (me/) 1 <0.60 - 0.61 0.60 =
FHEMER (mg/) 15 <7 <7 =
EEFEE (mg)) 2000 <100 - 387 156 yoss
AR E (mg/) 200 19 - 34 23 =2
M (0) 43 30 - 33 31 .
DR/ N= EOEHER | B E DL | BEHIE DL s
EEEB

il (mg/l) 2 <04 <04 =
5 (mg/) 5 <1 <l =
#%  (mg/l) 0.1 <0.1 <0.1 =
#% (mg/l) 1 <0.30 - 0.30 0.30 =
i (mg/l) 2 <0.50 - 0.56 0.52 =
55 (mg/l) 2 <1 <1 =
il (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
# (mg/l) 2 <1 <1 =
B (mg/) 2 <0.4 <0.4 =
#  (mg/l) 5 <1 <1 =
FE (mg/l) 2 <1 <1 s
HHeBEEHS (mg/) 10 <7.0-7.0 7.0 =
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B (mg/) 5 <1 <1 =
# (me/) 10 <2 <2 =
2 8E
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AL LT (mgl) 0.01 <0.01 <0.01 v
FEZELEEY
K (mg/) 0.1 <0.06 <0.06 e
HEHEMEey :
1,1,1-= & Z K (mg/) 0.05 <0.025 <0.025 =
ZEBEE
% & K 48 & (mg/l) 0.003 <0.003 <0.003 s
A EE -
B EENE & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 s
#5-90 (pc/l) 100 <100 <100 v
# FECBEEETE M 5 R 8% 8 8 80 0k - 87 R -
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e cugallnyic R - 34 8 TFERE
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() =+srgEwsE @
kL (kg/0.5h) 0.58 000 - 0.11 0.03 s
“ &AL (kg/0.5h) 3.86 000 - 146 0.23 &
Bl (kg/0.5h) 1.16 000 - 0.26 0.03 s
H L& (kg/0.5h) 0.08 0.00 - 0.00 0.00 s
A1y
(L= & 16 & 5t &) 771 0.11 - 3.46 1.63 s
(kg/0.5h)
YA R (kg/0.5h) 0.39 0.00 - 0.07 0.00 v
— &b % (kg/0.5h) 1.93 000 - 1.54 0.10 s
) Bt ©
fokr (keg/day) 9.25 026 - 2.28 1.40 =
—EALHR  (ke/day) 46.27 6.39 - 16.19 10.81 s
il (kg/day) 9.25 020 - 234 1.34 s
FALE (keg/day) 0.93 0.00 - 0.00 0.00 s
A1y
(L= & 1 & 5 58) 185.06  |65.86 - 97.01|  78.49 v
(kg/day)
Y4H MR (ke/day) 9.25 0.16 - 0.29 0.22 v
— &bk (kg/day) 46.27 224 - 1.6 4.57 v
()  EAth
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(e %) ® (B/E)

= = AN
imﬁ%%%%g?ﬁaa (kemy | 09 0.06 =
GEBLEY
(LA fbtaE & & &) 0.73 <0.03 s
(kg/h)
% 1S (DARR B% 51 5) (kg/h) 1.45 0.1 =
Bh4EE (DA TED) (ke/h) 0.21 <0.006 e
B EORAEE (ke/h) 0.19 <0.04 =
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FESBE—EY:
FeEE -BHNEE
ngﬁf’%(% ROWEE | 01 <0.0003 =
FESBE_ER©:
Rl (ke/h) 0.0023 <0.0001 =
EEBEBE_HNEE
ﬁgﬁ)}“%(% RO & 0.019 <0.0019 =
& (kg/h) 0.0019 <0.0001 g
—E (ng/h) 2891 715 =
ZE:
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B i [ (7K) (E'Jiﬁ B 100126 123 2
)
EEE S %) |0 (;’Eﬁlﬁ 51-91 735 2
5)
EELE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 =
PAEE (ppm) 10 <05-19 0.5 =
#i  (ppm) <0.5-3.6 0.7
##  (ppm) <0.5 <0.5
#5  (ppm) <1.0 <1.0
¥ (ppm) <0.5-89 0.7
g~ 88~ S5 - SR _
WE (ppm) 25 <2.5-11.0 2.9 E
# (ppm) 20 <1 <1 Lk
ALY (ppm) 10 <5 <5 pies
A FE (ppm) 10 <2.0-3.0 2.0 =
ALY (ppm) 5 <5 <5 pies
B EH S
H A% ALY A
MR RS 5000 <15 <15 =
= (ppm)
B %K R EE _
(ppm) 10 <5 <5 =
FAL Ky 42 2 _
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) =
(ppb) 1 <1 <1 =




